Modeling Coffee Reviews

Will Rodman Final Project MATH-6040 Linear Models

Project Summary

- Modeled a dataset sourced from Kaggle.com.
- The dataset consists of webscraped coffee bean reviews from CoffeeReview.com.
- The goal was to develop a linear model that predicts users' coffee bean ratings.

Individual coffee bean review.



Figure 1: coffeereview.com reviews webpage.

Metadata

- Number of Reviews: 1779
- Feature Descriptions:
 - acid: Acidity level from 1 10.
 - **body**: Body characteristic from 1 10.
 - flavor: Strength of flavor from 1 10.
 - aftertaste: Aftertaste persistence from 1 10.
 - roast: Level of roast.
 - loc_country: Location of a users rating.
 - 100g_USD: Price per 100 grams in USD.
 - rating: Overall rating from 1 100.

Individual coffee bean review.



		acid	body	flavor	aftertaste	roast	loc_country	100g_USD	rating
	0	9	9	9	8	Medium-Light	United States	12.93	94
	1	9	9	9	8	Medium-Light	United States	6.17	93
	2	9	8	9	8	Medium-Light	United States	5.58	92
	3	8	8	9	8	Medium-Light	United States	9.17	92
	4	8	9	9	8	Medium-Light	Taiwan	8.80	92
	5	8	8	9	8	Light	Taiwan	6.08	92
	6	9	8	9	7	Medium Light	United States	5.88	91
	7	9	8	9	7	Medium-Light	United States	5.88	91
	8	9	9	9	9	Light	United States	13.23	95
	9	9	9	9	8	Light	United States	8.11	94

Figure 2: Dataset heading after data cleaning.

Numerical Distributions



max

Figure 3: Distributions of price and rating values.

Figure 5: Distribution statistics.

rating

93.100056

1.578859

84.000000

Numerical Distributions



Figure 6: Box plot distribution of aftertaste by rating.

Exponential relationship relationship between price and rating.



Figure 7: Box plot distribution of price by rating.

Categorical Features

Number of roast Observations by Category:

Top 5 location Observations by Category:

Category	Observations	Category	Observations
Medium-Light	1304 73% of data.	United States	1210 68% of data.
Light	280	Taiwan	402
Medium	175	Hawaii	82
Medium-Dark	16	Guatemala	27
Dark	4	Canada	21

* 17 total location categories.

Categorical Features

No significant variance in the averages by location.



Figure 8: Box plot distribution of rating by location.

Figure 9: Box plot distribution of rating by roast.

Average rating decreases as the level

of roast increases.

Models

1) Regression including all numerical features:

Dep. Variable: R-squared: rating 0.954 Model: OLS Adj. R-squared: 0.953 Least Squares **F-statistic:** Method: 7277. P>|t| [0.025 0.975] coef std err t **const** 52.8182 0.243 217.101 0.000 52.341 53.295 1.1568 0.017 66.767 0.000 1.123 1.191 acid 1.0814 0.018 60.724 0.000 1.047 1.116 body flavor 1.3906 0.028 49.168 0.000 1.335 1.446 1.0522 0.020 52.384 0.000 1.013 aftertaste 1.092 100g_USD 0.0452 1.667 0.096 -0.008 0.098 0.027

2) Regression excluding the price feature:

Dep.		rating	R-squared:			0.953	
	Model:		OLS	Adj. R-squared: F-statistic:			0.953
	Method:	Leas	t Squares				9086.
cc		std err	t	P> t	[0.025	0.975]
const	52.7393	0.239	220.886	0.000	52.271	53.20	В
acid	1.1597	0.017	67.233	0.000	1.126	1.194	4
body	1.0847	0.018	61.238	0.000	1.050	1.11	9
flavor	1.3963	0.028	49.709	0.000	1.341	1.45	1
aftertaste	1.0572	0.020	53.220	0.000	1.018	1.09	6

 $0.096 > \alpha = 0.05$

Models

Design Matrix for Roast:

3) Analysis of Light Light/Medium and Medium Roasts:

	const	rating	roast_Light	roast_Medium_Light	roast_Medium	roast_Medium_Dark	roast_Dark]			coef	std err	t	P> t	[0.025	0.975]
0	1.0	94	0	1	0	0	0			Intercept	89.4500	0.330	271.085	0.000	88.803	90.097
1 2	1.0	93	0	1	0	0	0			roast_Light	4.0857	0.342	11.962	0.000	3.416	4.756
3	1.0	92	0	1	0	0	0		roast	Medium Light	3,7663	0.332	11.327	0.000	3.114	4.418
4	1.0	92	0	1	0	0	0				1					
5	1.0	92	1	0	0	0	0			roast_Medium	2.5043	0.348	7.190	0.000	1.821	3.187
6	1.0	91	0	1	0	0	0									
7	1.0	91	0	1	0	0	0									
8	1.0	95	1	0	0	0	0									
9	1.0	94	1	0	0	0	0									

Models

4) Combining Categorical and Numerical Features:

- R-squared of 95%.
- All coefficients are positive.
- Improvement in Log Likelihoods:
 - 1. Model 1: -606.38
 - 2. Model 2: -607.78
 - 3. Model 4: -585.20

Dep. Variable:		ratina	R	-square	d: 0.9	955
Model:		OLS	Adi. R	-square	d: 0.9	54
Method:	Least	Squares	F	-statisti	c: 53	23.
Date:	Sat, 04 M	av 2024	Prob (F-	statistic): 0	.00
Time:	. 1	4:03:58	Log-L	.ikelihoo	r d: -585.	.20
No. Observations:		1779	-	AIC	C: 118	86.
Df Residuals:		1771		BIC): 12:	30.
Df Model:		7				
Covariance Type:	nc	onrobust				
	coef	std orr	•	D>ItI	[0 025	0 9751
const	52 7934	0 242	218 353	0.000	52 319	53 268
acid	1.1372	0.017	65.332	0.000	1.103	1.171
body	1.0760	0.018	61.270	0.000	1.042	1.110
flavor	1.3857	0.028	49.811	0.000	1.331	1.440
aftertaste	1.0457	0.020	53.041	0.000	1.007	1.084
roast_Light	0.4303	0.081	5.327	0.000	0.272	0.589
roast_Medium_Light	0.4161	0.078	5.314	0.000	0.263	0.570
roast_Medium	0.2918	0.081	3.621	0.000	0.134	0.450
Omnibus: 322	890 D	urbin-Wa	atson	1858		
Prob(Omnibus): 0	000 Jar	que-Bera	(JB):	631 879		
Skew: -	L081	Prol	b(JB): 6	16e-138		
Kurtosis: 4	.961	Con	d. No.	524.		